
Chapter 1 Problem 30 †

Given
Vearth = 1021 m3

Solution
Convert the volume of the earth into different units.

a) Convert the volume into km3.
Since volume is distance cubed, the conversion factor must be cubed.

1021 m3

(
1 km

1000 m

)3

= 1012 km3

b) Convert the volume into mi3.
Since volume is distance cubed, the conversion factor must be cubed. To convert to miles we know that
1 mi = 1.6 km.

1021 m3

(
1 km

1000 m

)3(
1 mi

1.6 km

)3

= 2.4 × 1011 mi3

c) Convert the volume into cm3.
Since volume is distance cubed, the conversion factor must be cubed.

1021 m3

(
100 cm

1 m

)3

= 1027 cm3
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